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Directions: Read the following passage and decide which choice (1), (2), (3), or

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

In late October, the prime minister ---------- an emergency meeting,

1) deduced 2) collaborated 3) associated 4) summoned
The contract between the two companies will -==------- at the end of the year.

1) expire 2) extinguish 3) surrender 4) obstruct

An elderly man has ---e------ doctors at the hospital by living after he was officially
declared dead.

1) converted 2) corresponded 3) confounded 4) conducted
These reports are -=-------- to the many hours of research completed by this committee.
1) motion 2) submission 3) proximity 4) testimony
The points the author makes are fine, but the whole essay lacks ---------- 5

1) route 2) solidarity 3) coherence 4) profile

The rise in the interest rate had a direct ----=----- on the company’s profits.

1) domain 2) convergence 3) proportion 4) bearing

It is some researchers’ -=-------- that exercise is more important than diet if you want to
lose weight.

1) exhibition 2) contention 3) undertaking 4) designation
There is no ---------- on students to take so many subjects in one semester.

1) impetus 2) affiliation 3) compulsion 4) momentum
The success of the project is due to the -=-=-==--- amount of work that has gone into it.
1) tremendous 2) celebrated 3) primary 4) leading
Farmers are still a -===-==--- political force in France. ;

1) potent 2) provisional 3) prognostic 4) plentiful

PART B: Cloze Test

(4) best fits each space. Then mark the correct choice on your answer sheet.

Nature conservation means the protection of animals and plants in their natural homes. It
means the preservation of (11) ---------- species that live with us on Earth, in the wild places,
and even in our gardens and homes. (12) ---------- the sensible use of all the Earth’s resources. It
requires the development (13) -=--=----- a deep sense of responsibility for the long-term welfare
of this planet. (14) ---------- man'’s prehistoric ancestors mastered the use of fire, human beings
have influenced the natural environment. In Africa the burning of forests 50,000 years ago
contributed to the creation of the great grasslands there. But man’s ability to destroy nature

(15) -=-=memem- in the last 100 years. The pace of technological advance has been startling.
1) great various 2) the great variety of

3) the great various 4) great variety of

1) It involves 2) They are involved in

3) It is involved in 4). They involve

1) in man who 2) which man of 3) in man of 4) of man who
1) When 2) Ever since 3) As long as 4) Until

1) increased enormous 2) has increased enormously

3) had an enormously increase 4) had increased enormously
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Part C. Reaing Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).

Then mark it on your answer sheet.

PASSAGE 1:

Turbines are simple and powerful machines that are classified according to the fluid they
use. The three main kinds are the hydraulic, or water, turbine, the steam turbine, and the gas
turbine. The hydraulic turbine is used almost exclusively in hydroelectric plants to drive an
electric generator, which in turn produces electric power for homes and industry. The steam
turbine is used primarily in fossil-fuel and nuclear power plants to drive an electric generator
for producing electric power for consumers. Another important use of the steam turbine is to
drive the propellers of ships and submarines. The gas turbine primarily is used on aircraft to
provide the motive power for jet propulsion.

The primary mechanical feature of a turbine is a rotatable element — called the runner, rotor,
or wheel — that is mounted on a shaft and has a series of vanes, blades, or buckets arranged
around its periphery. When the moving fluid strikes the blades or buckets, the energy of the
fluid is transferred to the wheel, causing rotation of the wheel and the turbine shaft.

Kinetic energy and other forms of energy can be supplied singly or in combination to the
turbine for conversion to mechanical work. The primary advantage in using a turbine lies in the
conversion of one form of energy to rotary motion without intermediate steps. In contrast,
reciprocating engines convert some form of energy to reciprocating motion and this in turn to
rotary motion. The intermediate step limits the size and power production of these engines.

According to the passage, turbines are classified according to ---------- ‘

1) the useful work they produce 2) their mechanical features
3) the energy form they receive 4) their moving liquids
According to the passage, steam turbines ---------- -

1) are used to supply electric power for aircrafts

2) change the fluid they use into gas

3) have proven to be useful in the navy

4) are used only in power plants

The word “its” in line 10 refers to ---------- 6

1) feature 2) shaft 3) turbine 4) element
According to the passage, the runner of a turbine ---------- ;

1) is attached to the turbine shaft 2) stops the fluid from moving
3) uses its buckets to move the fluid 4) causes the wheel to rotate
From the passage, it can be inferred that reciprocating engines ---------- .

1) have advantages over turbines with regard to power production

2) convert energy to rotary motion in several steps

3) receive energy from a fluid and immediately converts it to rotary motion

4) are used to supply energy to turbines
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PASSAGE 2:

The new kind of ac motor, the induction motor, had its origins in certain theoretical
considerations. In the spring of 1888, Galileo Ferraris, a professor at a technical school in
Turin, Italy, published an account of experiments he had made in the summer of 1885. Form
consideration of the interaction of two light waves out of phase, Ferraris had been led to the
conception of a constant rotating magnetic field that was the resultant of two alternating
magnetic fields 90° out of phase. He showed his students how a single current could be split

into two out-of-phase currents that produced two out-of-phase magnetic fields, and he showed
that the single resultant rotating magnetic field could produce rotary motion of a motor’s rotor.
Even though Ferraris’ induction motor had a starting torque, he concluded it was only a
laboratory device that could not result in a practical motor.

Independently of Ferraris, Nikola Tesla in 1887 applied for a patent on an induction motor
operated by a rotating magnetic field. He also described how single-phase current could be used
to run an induction motor. During the winter of 1887-1888, Tesla exhibited his single-phase
induction motor, which depended on phase splitting, as did Ferraris’ motor.

According to the passage, in 1888 Galileo Ferraris ----------.

1) was appointed a professor at a technical school in Italy

2) carried out his famous experiments

3) published a report of his experiments

4) designed an electric motor

The passage preceding this one probably deals with -«-=s==---,

1) uses of the induction motor 2) kinds of ac motor
3) advances in ac machinery 4) ac theory

Which of the following statements is true according to the passage?
1) Ferraris’ students produced a motor’s rotor.

2) Ferraris and Tesla got their induction motor patented.

3) Ferraris set to work with Tesla to create a single-phase induction motor.
4) No ac motor was in existence before 1888.

How did Tesla’s induction motor differ from Ferraris’ motor?

1) It was operated by single-phase current. 2) It depended on phase splitting.
3) It was run by two magnetic fields. 4) It had no starting torque.
It can be inferred from the passage that Ferraris -----==--- ’

1) created a commercially successful induction motor

2) did not use a power supply to run his motor

3) was after a laboratory device to complete his experiments
4) was not pleased with his induction motor
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PASSAGE 3:

The first commercially practical electric motor was introduced in the 1880’s—more than"a
half century after certain fundamental discoveries in electricity and magnetism in the early
1820’s. Among them were the discovery of how to make an electromagnet and that of how to
produce motion from such a magnet.

In England in 1821, Michael Faraday demonstrated for the first time that continuous rotary
motion could be obtained from a magnet and a movable wire. Peter Barlow modified Faraday’s
experiment in 1822 to show how the rotary motion of a wheel could be obtained.

In the United States, Joseph Henry joined together basic components—a battery, an electro-
magnet, and a commutator — to build a continously operating electric motor in 1831. Thomas
Davenport, a blacksmith from Brandon, Vt, became fascinated by one of Henry’s
electromagnets. After several years of effort Davenport issued the first American patent on an
electric motor in 1837. Davenport built many motors, and they had exceptional electrical and
magnetic features for the time. Nevertheless, he spent his entire life in a fruitless effort to use
electricity as a new source of motive power for commerce and industry.

Such pioneering attempts to harness electricity were in vain. One important obstacle was
that the funds necessary to finance the long period of Development were not available. An even
more decisive factor was that the electric power was produced by batteries that required
expensive metals and acids, and thus electric power could not compete commercially with the
steam power produced by much cheaper coal and water.

This passage is mainly about ------=--- :

1) using magnetism to produce motion 2) sources of electric power
3) discoveries in electricity 4) the first electric motor
According to the passage, Peter Barlow ---------- a

1) showed the continous rotary motion of a wheel

2) reacted against Farday’s experiment

3) made some changes to Faraday’s experiment

4) made the first rotating wheel

According to the passage, Thomas Davenport ----=s==--,

1) was the first American to use electric power in industry

2) patented many electric motors

3) carried out experiments similar to Faraday’s experiment

4) was inspired by Henry’s electromagnet

What is author’s attitude toward attempts to use electricity to produce motion?
1) negative 2) supportive 3) neutral 4) scientific
It can be inferred from the passage that ---------- .

1) shortly after its discovery, electricity was used as a source of motive power

2) attempts made to create electromagnetics were unsuccessful

3) early sources of electric power were not commercially practical

4) steam power failed to be a good substitute for electric power
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